



Download Toppr - India's best learning app for classes 5th to 12th

360° learning with our adaptive platform



Online Classes

Learn for free with short videos and live classes



Adaptive Practice

Practice smart with questions created for your unique needs



Mock Tests

Be exam ready by solving all India tests and previous years' papers



Live Doubts

Chat with tutors and get your doubts resolved instantly, 24x7



Live Classes

Learn concepts and get tips from the best teachers with free Live Classes



Download the app for
FREE now

GET A 5-DAY FREE TRIAL



9,184,321
HAPPY STUDENTS



492,461,127
QUESTIONS ATTEMPTED



3,986,828
TESTS TAKEN



8,017,171
DOUBTS ANSWERED

NCERT Solutions for Class 8 Subject-wise

- [Class 8 Maths](#)
- [Class 8 Science – Physics](#)
- [Class 8 Science – Biology](#)
- [Class 8 Science – Chemistry](#)
- [Class 8 Social Science – History](#)
- [Class 8 Geography](#)
- [Class 8 General Knowledge](#)
- [Class 8 Civics](#)

#463567

Find:

(i) $64^{\frac{1}{2}}$ (ii) $32^{\frac{1}{5}}$ (iii) $125^{\frac{1}{3}}$

Solution

i) $(64)^{\frac{1}{2}}$

Express 64 in terms of 8

$$= (8^2)^{\frac{1}{2}} = 8^{2 \times \frac{1}{2}} = 8^1 = 8$$

ii) $(32)^{\frac{1}{5}}$

Express 32 in terms of 2

$$= (2^5)^{\frac{1}{5}} = 2^{5 \times \frac{1}{5}} = 2^1 = 2$$

iii) $(125)^{\frac{1}{3}}$

Express 125 in terms of 5

$$= (5^3)^{\frac{1}{3}} = 5^{3 \times \frac{1}{3}} = 5^1 = 5$$

#463569

Find:

(i) $9^{\frac{3}{2}}$ (ii) $32^{\frac{2}{5}}$ (iii) $16^{\frac{3}{4}}$ (iv) $125^{\frac{-1}{3}}$

Solution

(i) $9^{\frac{3}{2}}$

Express 9 in terms of 3

$$= (3^2)^{\frac{3}{2}} = 3^{2 \times \frac{3}{2}} = 3^3 = 27$$

(ii) $32^{\frac{2}{5}}$

Express 32 in terms of 2

$$= (2^5)^{\frac{2}{5}} = 2^{5 \times \frac{2}{5}} = 2^2 = 4$$

(iii) $16^{\frac{3}{4}}$

Express 16 in terms of 4

$$= (2^4)^{\frac{3}{4}} = 2^{4 \times \frac{3}{4}} = 2^3 = 8$$

(iv) $125^{\frac{-1}{3}}$

Express 125 in terms of 5

$$= (5^3)^{\frac{-1}{3}} = 5^{3 \times \frac{-1}{3}} = 5^{-1} = \frac{1}{5}$$

#463571

Simplify:

(i) $2^{\frac{3}{5}} 2^{\frac{1}{5}}$ (ii) $\left(\frac{1}{3^3}\right)^7$ (iii) $\frac{11^{\frac{1}{2}}}{11^{\frac{1}{4}}}$ (iv) $7^{\frac{1}{2}} \cdot 8^{\frac{1}{2}}$

Solution

$$(i) 2^{\frac{3}{7}} \cdot 2^{\frac{1}{7}}$$

By using property $X^a \cdot X^b = X^{a+b}$

$$= 2^{\frac{3}{7} + \frac{1}{7}} = 2^{\frac{17}{10}}$$

$$(ii) \left(\frac{1}{3^3}\right)^7$$

By using property $\left(\frac{x}{y}\right)^a = \frac{x^a}{y^b}$

$$= \frac{1}{(3^3)^7}$$

$$= \frac{1}{3^{21}} \dots [\because (x^a)^b = x^{ab}]$$

$$(iii) \frac{11^{\frac{1}{2}}}{11^{\frac{1}{4}}}$$

By using property $\frac{X^a}{X^b} = X^{a-b}$

$$= 11^{\frac{1}{2} - \frac{1}{4}} = 11^{\frac{1}{4}}$$

$$(iv) 7^{\frac{1}{2}} \cdot 8^{\frac{1}{2}}$$

$$= 56^{\frac{1}{2}} \dots [\because x^a y^a = (xy)^a]$$

#463724

Evaluate:

$$(i) 3^{-2}$$

$$(ii) (-4)^{-2}$$

$$(iii) \left(\frac{1}{2}\right)^{-5}$$

Solution

$$(i) 3^{-2} = \frac{1}{3^2} = \frac{1}{9}$$

$$(ii) (-4)^{-2} = \frac{1}{(-4)^2} = \frac{1}{4^2} = \frac{1}{16}$$

$$(iii) \left(\frac{1}{2}\right)^{-5} = \frac{1}{(2)^{-5}} = 2^5 = 32$$

#463725

Simplify and express the result in power notation with positive exponent.

$$(i) (-4)^5 \div (-4)^8$$

$$(ii) \left(\frac{1}{2^3}\right)^2$$

$$(iii) (-3)^4 \times \left(\frac{5}{3}\right)^4$$

$$(iv) (3^{-7} \div 3^{-10}) \times 3^{-5}$$

$$(v) 2^{-3} \times (-7)^{(-3)}$$

Solution

$$(i) \quad (-4)^5 \div (-4)^8 = \frac{(-4)^5}{(-4)^8} = (-4)^{5-8} = (-4)^{-3} = \frac{1}{(-4)^3}$$

$$(ii) \quad \left(\frac{1}{2^3}\right)^2 = \frac{1}{2^{3 \times 2}} = \frac{1}{2^6}$$

$$(iii) \quad (-3)^4 \times \left(\frac{5}{3}\right)^4 = (-1)^4 \times (3)^4 \times \left(\frac{5}{3}\right)^4 = (-1)^4 \times 5^4 = 5^4$$

$$(iv) \quad (3^{-7} \div 3^{-10}) \times 3^{-5} = \left(\frac{3^{-7}}{3^{-10}}\right) \times (3)^{-5} = 3^{-7+10} \times 3^{-5} \\ = 3^{3-5} \\ = 3^{-2} = \frac{1}{3^2}$$

$$(v) \quad 2^{-3} \times (-7)^{(-3)} = \frac{1}{2^3} \times \frac{1}{(-7)^3} = \left(\frac{1}{2 \times (-7)}\right)^3 \\ = \frac{1}{(-14)^3}$$

#463729

Find the value of:

$$(i) \quad (3^0 + 4^{-1}) \times 2^2$$

$$(ii) \quad (2^{-1} \times 4^{-1}) \div 2^{-2}$$

$$(iii) \quad \left(\frac{1}{2}\right)^{-2} + \left(\frac{1}{3}\right)^{-2} + \left(\frac{1}{4}\right)^{-2}$$

$$(iv) \quad (3^{-1} + 4^{-1} + 5^{-1})^0$$

$$(v) \quad \left(\left(\frac{-2}{3}\right)^{-2}\right)^2$$

Solution

$$(i) \quad (3^0 + 4^{-1}) \times 2^2 = \left(1 + \frac{1}{4}\right) \times 2^2 = \frac{5}{4} \times 4 = 5$$

$$(ii) \quad (2^{-1} \times 4^{-1}) \div 2^{-2} = \frac{2^{-1} \times (2^2)^{-1}}{2^{-2}} = \frac{2^{-1+(-2)}}{2^{-2}} \\ = \frac{2^{-3}}{2^{-2}} = 2^{-3-(-2)} = 2^{-1} = \frac{1}{2}$$

$$(iii) \quad \left(\frac{1}{2}\right)^{-2} + \left(\frac{1}{3}\right)^{-2} + \left(\frac{1}{4}\right)^{-2} \\ = 2^2 + 3^2 + 4^2 = 4 + 9 + 16 = 29$$

$$(iv) \quad (3^{-1} + 4^{-1} + 5^{-1})^0 = 1$$

$$(v) \quad \left(\left(\frac{-2}{3}\right)^{-2}\right)^2 = \left(\frac{9}{4}\right)^2 = \frac{81}{16}$$

#463730

Evaluate:

$$(i) \quad \frac{8^{-1} \times 5^3}{2^{-4}}$$

$$(iii) \quad (5^{-1} \times 2^{-1}) \times 6^{-1}$$

Solution

$$\begin{aligned} \text{(i)} \quad & \frac{8^{-1} \times 5^3}{\frac{2^{-4}}{2^{-3} \times 5^3}} \\ &= \frac{2^{-4}}{2^4 \times 5^3} = 250 \end{aligned}$$

$$\begin{aligned} \text{(ii)} \quad & (5^{-1} \times 2^{-1}) \times 6^{-1} \\ &= \left(\frac{1}{5} \times \frac{1}{2}\right) \times \frac{1}{6} \\ &= \frac{1}{60} \end{aligned}$$

#463732

Find the value of m for which $5^m / 5^{-3} = 5^5$.

Solution

$$\begin{aligned} \frac{5^m}{5^{-3}} &= 5^5 \\ \Rightarrow 5^m &= 5^5 \times 5^{-3} = 5^2 \\ \Rightarrow m &= 2 \end{aligned}$$

When the bases are same, the powers can be equated.

#463734

Evaluate:

$$\begin{aligned} \text{(i)} \quad & \left(\frac{1}{3}\right)^{-1} - \left(\frac{1}{4}\right)^{-1} \\ \text{(ii)} \quad & \left(\frac{5}{8}\right)^{-7} \times \left(\frac{8}{5}\right)^{-4} \end{aligned}$$

Solution

$$\text{(i)} \quad \left(\frac{1}{3}\right)^{-1} - \left(\frac{1}{4}\right)^{-1}$$

$$= [3 - 4]^{-1} = (-1)$$

$$\text{(ii)} \quad \left(\frac{5}{8}\right)^{-7} \times \left(\frac{8}{5}\right)^{-4}$$

$$= \left(\frac{8}{5}\right)^7 \times \left(\frac{5}{8}\right)^4$$

$$= \frac{512}{125}$$

#463736

Simplify

$$\text{(i)} \quad \frac{25 \times t^{-4}}{5^{-3} \times 10 \times t^{-8}}$$

$$\text{(ii)} \quad \frac{3^{-5} \times 10^{-5} \times 125}{5^{-7} \times 6^{-5}}$$

Solution

$$(i) \frac{25 \times t^{-4}}{5^{-3} \times 10 \times t^{-8}}$$

$$= \frac{5^{2+2} \times t^{-4+8}}{2}$$

$$= \frac{625t^4}{2}$$

$$(ii) \frac{3^{-5} \times 10^{-5} \times 125}{5^{-7} \times 6^{-5}}$$

$$= 3^0 \times 2^0 \times 5^5$$

$$= 5^5$$

#463738

Express the following numbers in the standard form :

$$(i) 0.0000000000085$$

$$(ii) 0.00000000000942$$

$$(iii) 602000000000000$$

$$(iv) 0.00000000837$$

$$(v) 3186000000$$

Solution

$$(i) 0.0000000000085 = 8.5 \times 10^{-12}$$

$$(ii) 0.00000000000942 = 9.42 \times 10^{-12}$$

$$(iii) 602000000000000 = 6.02 \times 10^{15}$$

$$(iv) 0.00000000837 = 8.37 \times 10^{-9}$$

$$(v) 3186000000 = 3.186 \times 10^{10}$$

#463740

Express the following numbers in usual form

$$(i) 3.02 \times 10^{-6}$$

$$(ii) 4.5 \times 10^4$$

$$(iii) 3 \times 10^{-8}$$

$$(iv) 1.0001 \times 10^9$$

$$(v) 5.8 \times 10^{12}$$

$$(vi) 3.61492 \times 10^6$$

Solution

$$(i) 3.02 \times 10^{-6} = 0.00000302$$

$$(ii) 4.5 \times 10^4 = 45000$$

$$(iii) 3 \times 10^{-8} = 0.00000003$$

$$(iv) 1.0001 \times 10^9 = 1000100000$$

$$(v) 5.8 \times 10^{12} = 5800000000000$$

$$(vi) 3.61492 \times 10^6 = 3614920$$

#463743

Express the number appearing in the following statements in standard form:

(i) 1 micron is equal to $\frac{1}{1000000}$ m

(ii) charge of an electron is 0.000, 000, 000, 000, 000, 16 coulomb

(iii) size of bacteria is 0.0000005 m

(iv) size of plant cell is 0.00001275 m

(v) Thickness of a thick paper is 0.07 mm

Solution

(i) $1000000 = 1 \times 10^{-6}$

(ii) $0.000, 000, 000, 000, 000, 16 = 1.6 \times 10^{-19}$

(iii) $0.0000005 = 5 \times 10^{-7}$

(iv) $0.00001275 = 1.275 \times 10^{-5}$

(v) $0.07 = 7 \times 10^{-2}$